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QUESTION 1

Which layer of the OSI model defines how data is formatted for transmission and how access to the physical media is
controlled? 

A. presentation 

B. data link 

C. network 

D. transport 

Correct Answer: B 

Reference: https://itcertzone.wordpress.com/2011/01/24/the-seven-layers-of-the-osi-model/#:~:text=Layer
%202%3A%20The%20Data%20Link,reliable%20delivery%20of%20the%20data. 

 

QUESTION 2

Which Xmodem option is used to enhance error checking of an image that is copied to flash memory? 

A. -e 

B. -r 

C. -c 

D. -x 

Correct Answer: C 

 

QUESTION 3
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Refer to the exhibit. Which two statements about the hardware components are true? (Choose two.) 

A. 2 is an RJ-45 to USB Type A console cable. 

B. 3 is a USB Type A port. 

C. 3 is a USB 5-pin mini USB Type B port. 

D. 1 is a USB Type A port. 

E. 2 is a USB 5-pin mini USB Type B to USB Type A console cable. 

Correct Answer: BE 

Reference: https://www.cisco.com/c/en/us/td/docs/routers/access/2900/hardware/installation/guide/
Hardware_Installation_Guide/Install_Connect.html 

 

QUESTION 4

Which command initiates the copying of a Cisco IOS image to a Cisco device? 

A. copy tftp nvram 
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B. copy tftp flash 

C. copy flash tftp 

D. copy xmodem flash 

Correct Answer: B 

 

QUESTION 5

How many pairs of copper wire does a UTP cable have? 

A. 2 

B. 3 

C. 4 

D. 5 

Correct Answer: C 
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